
1)
Find the next three numbers in 
the sequence
40,30,45,35,50,40,55__,__,__

Answer: ____________

2) 10:32 am To 04:53 pm

Answer: ____________

3) 9/8 x 18/6

Answer: ____________

4) 10% of 33

Answer: ____________

5) Solve by factorising 
s2 - 20s + 19 = 0

Answer: ____________

6) (7 x 58) + (3 x 47)

Answer: ____________

7) Find the value of 's' by completing the 
square of the following equation: 2 + 
8s + 15

Answer: ____________

8) Find the range of the following set of data:

6, 10, 2, 2, 6, 0, 7

Answer: ____________

9) Increase 105 by 1/15

Answer: ____________

10) An amount was decreased by 2.7% to 
$397.00. Find the original amount.

Answer: ____________

11) (6 x 35) x (7 x 1-8)

Answer: ____________

12) Simplify 13:12

Answer: ____________

13) (-23) + (-49)

Answer: ____________

14) Round 24.19502 to the nearest 1000

Answer: ____________

15) 42/7 ÷ 16/7

Answer: ____________
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16) Find the value of 'x' by completing 
the square of the following equation: 
2 + 4x + 4

Answer: ____________

17) Find perimeter of 
square having each 
side (s) equals 38 cm

Answer: ____________

18) 11 x 82

Answer: ____________

19) 9% of 30

Answer: ____________

20) Factorise x2 + 6x + 8

Answer: ____________

Total: ___ / 20
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Answers:

1) 45,60,50, 2) 06 Hours 21 Mins 3) 33/8 4) 3.3 5) s = 19 or 1 6) 2783527 7) (s + 4)2 - 1

8) 10 9) 112 10) $386.28 11) 10206 12) 13 : 12 13) -72 14) 24.195

15) 24/13 16) (x + 2)2 17) 152cm 18) 902 19) 2.7 20) (x + 2)(x + 4)
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